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There are in all 30 questions in this question paper. All questions are cornpulsory.

Question No. 1 to 8 carry one mark each, question No. 9 to I 8 carry two marks each, question No. I 9

to 27 carry three marks each and question 28 to 30 carry five marks each.

There is no overall choice. However an internal choice has been provided in one question oftwo marks.

one question ofthree marks, and all three qr:estion offive marks each. You lrave to attempt only one ofthe

gir en choices in such questiotts.

Sta;t from the first question and proceed to the last. Do not waste time over a question ifyou cannot solve

it.
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(v) Use ofcalculator and mobile is not permitted.

(vi) You may use the following values ofphysical constants where ever necessatl 
.
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What will be the power of a concave lense in Diopler olfocal length 20 cm?

n- !6rr d 3d qrfldi qg{1{{6 (?rl 3rs$qo sndn sr66i d nq fafuf t

Write the names of rnaj ority and minority charge carriers in n-type semiconductor.

qfr d snArTi A frq sn qtl 3rtfr 6{ A qru nt s'rd frs d.li qa qd q{ T{r qqm q}r[ r

what will be the effect on the force between two charges ifthe distance between thern is half ?

fud .d ftgd gqds fAfrrflT e) ilfrd d s-ad ffi't qqRpro dfur t 
,

Arrange the given Electromagnetic radiation in the descending order ofthe wavelength.

Infrared Rays, Y-Rays, X-Rays, Ultra Violet Rays.

pr<rwft o1 oie r<q dt .n1 qd qrr$ qr,fi t?

TlT e core of the transformer is made by soft Iron why ?
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What is the relation betweerr Electric field and cunent density in the conductor?

w {A{flc d ft{rq i+ roo de d {arrs r) cR-d fuqr qmT t gMq t sq< S-Effi cr.r td srd
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An electron is aecelerated by 100 volt from rest. What will be the De-Broglie wavelength ofthe electron.

3{r<rf 3r+er f,Qn 3TrEcf qM'es or cfritq fu-f,fl E\-dT t? 1

What is the resistarrce of an ideal Arnmeter and Volt meter?
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Two point charges+4e and +e are placed x distance flom each. At what pointthe third point charge q is placed on

the linejoiningthem that it remains balanced.

raqtqff e,'lIT qRcq d fti{ 3il{{d crfrfl.tlq 61 qq6 qlK @ifdq f,ar qle&q qm oJ rTlgrfl t z

Derive the formula for the Average power inA.C. circuit and also explain the watt less current.

nqd utlr rr-n 3rgm-r i'r t rrr{.tr {€rTfr-a @1m I

Derive relation between Electric cunent and drift Velocity.

srQrsr (oR)

To 220 aE mlT r oo qre d q<' o) 1 1 o d@ d slo t drcr qrfl t t q-e gxr q{tr d-qd prk a1 rylcr

alfu{ I 2

An electric lamp marked 220V- l00W isjoined to a source of I 10V Calculate the electric powerconsumed by the

lrrp.

q]{s)-il{n qqT B? g{d ryu svch rorst? 2

What are microwaves? Write their impofiant uses.

{iqri wft d W odr ol qro fu, dr{l qERfd dft\ I il<Tqwfl oT Tqr od t? 2

Draw a block diagrarn showing the impodant component in a communication system. What is the function of a

transducer?

rorgr d 6fl sq€ ,jrdt + 3lrq qqr rrrrgIi d? lirrqr d qft-or"r d ftf orqvqo n.fi ol tds dftC t

What is meant by coherent sources oflight? Write the essential condition forthe interference oflight.

4ree {rftqr o1 q_+rq ts'qi se.oMev oQtT2Heod za.s MeV dft t f g+n fi erBo r+rr$t dfdT i 3ltt Est?

2

The Binding energy ofNuclei of4B'e is 58.0 Mev andflea is 28.3 MeV. Which olthem is nrore stable and why?

1 5 3tq{fr{i6 d \.o sf,a im o1 qrS n rfif,s qtl ra cm t r irs o1 dr6-{1 (ft t cMr sro o1fur

qq {S GTrddqio 4 / 3 qA wfr t gour urnr t t

A connex lense ofrefractive index 1 .5 has a focal length of I 8 cm. in air Calculate the change in its focal length

when it is immersed in water of refiactive index 4/3'
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What are Eddy currents? Write any two applications ofEddy cunent.

r8 1o0eV 6qf oT qo {d-rflq l.lxl0-4 t-+s,/fr0'd gqdq d? t gnr+x qrf i q@{ drfl {6r t I fln
fim-
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An Electron of l00eV energy is moving in a circular path of in magnetic field of 1 . I X I 0-a Weber/nr2

(i) Velocity ofthe electron (iD Radiusofcircularpath.

2

Fir.rd out.
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With the help olGauss's Lawderive an expression forthe electric field dueto an infinitely long straight linear

charge densitl 1 Cml

w q"sfr I l0y soHzsrA q.qr.rff ql{r airo rl t .oon o1 qm oen I 00w srfu d-fr t I q"s6 or froe
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A coil draw I .00A current and I 00 watt Power from a A.C. source of 1 l0V, 50H f alculate the inductance and

Resistance ofthe coil.

olQtiTr (oR)
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Resistarrce, Inductance and capacitance are connected according to diagram inA.C. circuit. Calculate the current

in the circuit and power factor.

3rqq qrgfi-filT t qqr orftqq t? g{Id qqmrr o" qRarrB-a a1frr} t

What is rneant by amplitude modulation? Define its index.
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De{lne the Half life ofa radioactive substance? The Activity ofa radioactive substance remains I /8'5fits starring

value in 30 days. Calculate.

(i) Half life ofthe substance (il) Decay conslant olthe strbstance
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The rvork functionofthe surface oftheAluminum metal is 4.2eV The light ofwave length 2x10"7 m is incidence

on it. Calculate.

(D Threshold Wave length (ii) Marimum Kinetic energy.

c, qrfrfl d €qrRa o) v, firor<< oo 3nnRrd ir{d, v, farrqr<N e cF 3nif}rd fu .r} c, qftor qr&
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A capacitor ofcapacitance C, is charged up to Voltage Vlthen connected to the capacitor ofcapacity C, r,nith

Voltage V, chaqed in parallel. Calculate the energy loss.

or ftr-<rf, qorEt t g<r+1 rrerqflr t faxfr srerF-6 td er 3rrf,R-6 qFritr sts Eti d f="rr

rlr clw 4tfud L 3

State the principle of a potentiometer. Describe briefly, giving a circuit diagmm how it is r"rsed to measLrre the

internal resistance ofa primary cell.

6r{,)_<r 01 Gfrq@ Eift-mrcn d ft=cr< +1 erFqn"mi filM t

Describe the postulates ofthe Hygiene's principle ofsecondary Wavelets.

Dsq Err sila qfl{I 6r snf-fadlnr fu{"T en'{s EnT {{rflgi I

Explain the Dispersion of white light by Ray-diagram.

qft Zqds, erygqd{q oe-.T d6 gq+tq q<Trn dr s<m-q"r $trd qRqTBo o'iffi t dtq or e+ef

srwrt g< d'a gqoE of qrcer otm t 5

Explain with the help of examples-Diamagnetic, Paramagnetic and Fero magnetic substances. Defiuing domain

explain feromagnetism.
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Derive the fbnnulaofthe lorce between two parallel current carrying conductors and detineAmpele rvith thc

help olit.
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What is r]-p-n Transistor? Draw its symboldiagram and by drawingthe circuit diagram of common emitter n-

p-n transistor describe ils function.
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What is p-n-p Transistor? Draw its symbol diagram and by drawing the circuit diagram ofcommon emitter p-

n-p transistor describe its function.

Tq' {!-@ fu{ur ctTts A{ Cm t{qffiq R{qtff n qfrf+q 6r q-rq qrsrgi n'4I Wr61 erqrft erqol

or qwo qrw o:ffi I 5

Explain the formation of lmage in aAstronomical Telescope by a ray diagram and drive the fbrrnrrla of its

Magnilj ing power.
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what are sho( sightness and long sightness? Howthese defects can be removed. Explain with the help ofray

diagrarn.


